=) UPCOMING ONLINE BATCHES

07 SEP 2022

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

September 2022

14 SEP 2022 21 SEP 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

14 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

28 SEP 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

BILINGUAL

28 SEP 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

& www.mahendras.org ) 7052477777/7052577777



Directions: The following table shows the quantity of waste (Dry and Wet)
picked by a truck in 5 different days. The capacity of the truck on Monday
and on Wednesday is 180 kg, on Tuesday, it is 200 kg and the rest of two
days is 150 kg.

ﬁé?f IGE] F—ITP«IEFr 5 37ol9T-37ol9T fedl & Ueh b gRT 33T 9T PR
(@ 3R 9fel) T AT B R ¢ Wﬁ?gwaﬁa—cﬁaﬁrm
180 ThaIT, HITIAR T 200 fham gar AW & fear H 150 fopam g

Days Quantity of wet | Ratio of wet to Wet waste —
waste dry waste Dry Waste

Monday

Tuesday

Wednesday

Thursday

Friday




If on Wednesday, the truck picks only 80% of the waste of his capacity,
then find the difference between the quantity of Wet waste and Dry waste

on the same day ?

i %‘E;ZITT &l Th Ul &THIT Pl hdel 80% HI oIl &, al
LYs]]
hIfoTT

Ml FaY AR W@ HAY A AGFT & T AT AR A1

7

Days Quantity of wet | Ratio of wettodry | Wet waste — Dry
( DRY + WET) waste waste Waste

Monday ( 180 kg)

Tuesday ( 200 kg )

Wednesday ( 180 kg)

Thursday ( 150 kg)

Friday ( 150kg )




If on Wednesday, the truck picks only 80% of the waste of his capacity,
then find the difference between the quantity of Wet waste and Dry waste

on the same day ?

Days
(Dry +
Wet)

Monday
(180 kg)

Tuesday
(200 kg)

Wednesda

y (180 kg)

Thursday
(150 kg)

Friday
(150 kg)

Quantity
of wet
waste

110 kg

99 kg

84 kg

Ratio of
wet to
dry
waste

Wet
waste —
Dry
Waste

1. 54
2. 45
3. 30
4. 99

g
g
g

g

5. 144 kg



What will be the average weight of the Wet waste picked by the truck in all

the five days?
g urg feat A Th gRT 31T 9T el HaX &1 FEd doid fohder

gIaM?

Days Quantity of wet | Ratio of wettodry | Wet waste — Dry
( DRY + WET) waste waste Waste

Monday ( 180 kg)
Tuesday ( 200 kg )

Wednesday ( 180 kg)

Thursday ( 150 kg)

Friday ( 150kg )




What will be the average weight of the Wet waste picked by the truck in all
the five days?

Days Quantity | Ratio of Wet
(Dry + of wet wet to | waste -

Wet) waste dry Dry
waste Waste

Monday

(180 kg)

Tuesday 110 kg - 1 845 kg
(200 kg 2.96 kg
Wednesda 99 kg - -

y (180 kg) 3.90.4 kg
Thursda 84 k : -

b s 452 kg

.45.2 kg

Friday

(150 kg)




If the dry waste picked by the truck on Thursday is 40 kg less than that of

dry waste picked on Tuesday, then find the value of y ?
¢ IR Pl gh gRI FSAT IR-IT W HRT AIAIR Bl 3T T

U P ¥ 40 a1 oA &, dl ydl A AT HIfST ?

Days Quantity of wet | Ratio of wettodry | Wet waste — Dry
( DRY + WET) waste waste Waste

Monday ( 180 kg)
Tuesday ( 200 kg )

Wednesday ( 180 kg)

Thursday ( 150 kg)

Friday ( 150kg )




If the dry waste picked by the truck on Thursday is 40 kg less than that of
dry waste picked on Tuesday, then find the value of y ?

Days Quantity | Ratio of Wet
(Dry + of wet wet to | waste -
Wet) waste dry Dry
waste Waste
Monday
(180 kg)
Tuesday 110 kg 1 6
(200 kg) 2.4
Wednesda 99 kg
y (180 kg) 3 - 2
Thursday 84 kg 4
(150 kg) .8

Friday

(150 kg)




The dry waste, picked by the truck on Monday, Tuesday and Friday is how
much percent of the wet waste, picked by the truck on the last two days?

HIAGR, HITTIR 3R YehdR Pl Th gRT SSAT I-AT F@T HerT
oo & fgal # ¢ g1 3317 3T el daX &1 fehdar gfaera &2

Days Quantity of wet | Ratio of wettodry | Wet waste — Dry
( DRY + WET) waste waste Waste

Monday ( 180 kg)

Tuesday ( 200 kg )

Wednesday ( 180 kg)

Thursday ( 150 kg)

Friday ( 150kg )




The dry waste, picked by the truck on Monday, Tuesday and Friday is how
much percent of the wet waste, picked by the truck on the last two days?

Days Quantity | Ratio of Wet
(Dry + of wet wet to | waste -

Wet) waste dry Dry
waste Waste

Monday

(180 kg) - |
_ 1.96%

Tuesday 110 kg

(200 ke) 2.80%
Wednesda 99 kg - -
3.100%

y (180 kg)

Thursday 84 kg : - 4 150%

(150 kg)

Friday
(150 kg)

5.200%




If the truck picks the waste on the first and the last day with his full capacity,
but the quantity of wet waste, picked by it does not change, then find the

ratio of wet waste to dry waste, picked by the truck on the first and the last
day, respectively ?

afe g Ugel 3R N e 310e O &137aT & AT T 30T &, ofched
39% gRT 3&1T 0 Il ek T AT FH el Jel &ldl &, al hAA: Ugd 3R
& &7 geh gRT 31T 9T el PR Bl W@ Pk W HJUrd <Al Hifoiu?

Days Quantity of wet | Ratio of wettodry | Wet waste — Dry
( DRY + WET) waste waste Waste
Monday ( 180 kg)

Tuesday ( 200 kg )

Wednesday ( 180 kg)

Thursday ( 150 kg)

Friday ( 150kg )




If the truck picks the waste on the first and the last day with his full
capacity, but the quantity of wet waste, picked by it does not change, then
find the ratio of wet waste to dry waste, picked by the truck on the first
and the last day, respectively ?

Days Quantity | Ratio of Wet
(Dry + of wet wet to | waste -
Wet) waste dry Dry
waste Waste

Monday

(180 kg) 1.4 . 3
Tuesday 110 kg

(200 k) 253520
Wednesda 99 k .

y (180 kg) ° 3 6:5
Thursday 84 kg 4 7 . 6
(150 kg) 5 6 : 7

Friday
(150 kg)




Direction: A train is travelling from station A to E.

- At station A, 80 persons board in the ratio of male to female of 9 : 7.

- At station B, 15 men got down and 5 women boarded the train.
- At station C, half of the women got down and the same number of

women boarded the train.
- At station D, x number of male got down and now the ratio of male

to female is 5 : 8.

feem: T ¢ TEAT A Y EHT 3T IMET AT el &l

- T AW, GoY 3R Afgell & 3Hurd H 80 Fith HAR

m%9:7.

-@QH@[WG%@NbdQﬁTSW?}[ﬁW@I

;ﬁq——éa%ﬁrwm ATRATT 3T 915 3R dal o AfedIu ¢
de I

- ¥CAA DU, GBUT HT x HEIT €< 9T AR 37 gou & HAfgel

1 3UTd 5:8 @l




Direction: A train is travelling
from station A to E.

- At station A, 80 persons board
in the ratio of male to female of
O

- At station B, 15 men got down
and 5 women boarded the
train.

- At station C, half of the
women got down and the same
number of women boarded the
train.

- At station D, x number of male
got down and now the ratio of
male to femaleis 5 : 8.
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valid ticket and 60% of the female travelling from B to C do

not have a valid ticket, find the number of passengers who

are travelling from B to C with invalid ticket ?

< 50% T2 ST B § C 7 ATAT X T o, o 9 ¢ {ehe 78l 2

8T‘{ B & C =T ATAT F3T ATAT 60% AIGAT & TTH 97 fehe 7= €,

% 3 ATHAT sl EAT ST iU ST B & C @9 3 I Y T
5

Male | Female | Total

35
36
29
39
33

s i K




The number of females travelling from station B to C is
approximately how much percent more than the number of
males travelling from station D to E?

T2 B § C T ATAT T AT ATl T FeAT, #9r9 D § E i
ITAT A AT TRUT sl G AT § RIHIT Foha T Iiqerd sTfe 872

18%
. 24%
. 32%
. 14%
. NOT

Male | Female | Total




Find the difference between the passengers travelling from
sta;t\ing(goint to des;’gnation point ’?\ & Ty :
TSR T g | ITqed Teg O ITAT A 9Tl ATHHAT o 1= T (AT

ST hioTT?

35
15
40
30
25

Male | Female | Total

i - e




vvhich ot the 1ollowing statements IS true s

A) The number of females travelling from station Ato B is

equal to the number of males travelling from station D to E.

B) The total number of passengers travelling from station C to

D is 45% of the number of males who boarded from the

starting point.

C) The difference between the number of male and female

travelling from station D to E is half of the difference between
and female travelling from station C to D.

N1 TTUTTIDET O [Tla ]
| Male | Female | Total 1. OnlyAand B
45 35 80 2. OnlyAanaC
30 40 70 3. OnlyBandC
30 40 70 4. All are true
5. NOT

25 40 65



Find the ratio of total number of passengers travelling from
stationDtoEand Bto C ? o :
T9E D ¥ E 3T B ¥ C T ITAT A AT JTHAAT 6l el HEAT Fl

AT AT HiforT ?

8:7
5:6
12 : 11
13:14
k112

Male | Female | Total

T




The table shows the number of passengers travelled by 2
cab drivers and the percentage of females who travelled in

the cabs in different months.
dTleTehT 2 <hd SIAl Gl 1Al hXd Al Al1AA] ﬁﬂ'@ﬂ'ﬁ_{ iah-l‘ﬁ H§|d|

H el ® IATAT LA ATl HigeA T3l il ITaderd 297l 2

Month Driver A Driver B
Total Female % Total Female %
May 150 30% 200 50%
June 250 50% 350 70%

July 200 20% 250 40%
August 350 60% 150 30%
September 300 40% 400 50%




Find the ratio of the average of the female in the month of June and
July by Driver A to the average of the males in the same month by

Driver B ?

STEa¥ A ST S 3fiY % Heid | Higalrsll o 3fEd &7 5a< B g1 TH14
H@ﬁﬁgﬁﬁ%aﬁwgﬁqm ST hiTord?

Month

May

June

July
August

September

Driver A
Total
150
250
200
350
300

Female %
30%
50%
20%
60%
40%

Driver B
Total
200
350
250
150
400

Female %
50%
70%
40%
30%
50%

1357

2.42

341
4.17 .
5.29:

42
250
17
11
27
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iwn' ;the month of May and‘ t)vriver B rejects 10% of the passen'gers who
booked for the cab for the same month. Find how much percent
Driver A picks the passengers less than that of Driver B in the same

month?

STeaT A S HE o Weld | i g FIA AT T ATHAT H & 20% FT TR FT 24T
%WBﬁ‘@ﬁn@ﬁ%ﬁt% [ LA qTA 10% AT b7 AL FT 2T
AT =hitorT Toh FHTT | § AT A, FTAsh B | Fohd ITq9ra 37 ITERAT sl FAAT 872

Month Driver A Driver B
(o) (0]
Total Female %  Total Female % 1.25%
M 150 30% 200 50%
J . 250 50; 350 70; 28
une
Jul 200 20‘; 250 40; ki,
uly ( (
4.20%
August 350 60% 150 30%
5.33.33%

September 300 40% 400 50%



e

A in the month of July and
August to the number of male passengers who booked for Driver B in
the month of May and

September ?

S[ATs, 3T SRTEq & Hald ® gr2a¥ A & o0 T e a1l JTET st HEAT Fl
T2 o e & #Aaid | 1249 B & [0 9% F3d a1 729 [T HEAT | AT
EISECAISE

Month Driver A Driver B 1.2 :
Total Female% Total Female % 2.1

May 150 30% 200 50% 33:

June 250 50% 350 70% 45 -

S

U OO NN B W

July 200 20% 250 40%
August 350 60% 150 30%
September 300 40% 400 50%




The total number of male passengers who booked the trip in the
month of June is approximately what percent of the total number of

females who booked for the trip in the month of September’?
%ﬁ?ﬂ%ﬁfmm T LT ATl TET ATIT 6T T HeAT e F Hele H ATAT

T L ATl HIgoATAl sl el HEAT T TTAT ATHAIT TehadAT 572

Month Driver A Driver B
Total Female %  Total Female % 1 65%
May 150 30% 200 50% 2' e
June 250 50% 350 70% 3' 82‘%0
July 200 20% 250 40% - 00
August 350 60% 150 30% 4.64%
5.50%

September 300 40% 400 50%



Find the difference between the average number of males booked for
the cab from Driver A to the average number of males booked for the

Cabfrorga[)%rri\a/ge%%? i o
E5%% i) &7 6 g129< B
%‘IWWﬁﬁﬂﬁ?@mqﬁm T AL ST 1T ? Sl

Month Driver A Driver B
Total Female% Total Female % 1.25
May 150 30% 200 50% 7 .28
June 250 50% 350 70% 3.10
July 200 20% 250 40% 420
August 350 60% 150 30% 5 39
September 300 40% 400 50%
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out from the jar and replaced it with pure water. Again, 28
liter of the mixture is taken out and is replaced by 20 liter of
water. Find the ratio of juice and water in the final mixture ?
T ST H 84 12 9[E T8 8| AT H 18 f1aT T/ [T T Iqh
TATH T2 95 AT STAT ST gl T 28 wfied [Hor A forar
STAT g 3 39 TATH 9T 20 SA1e< 9TH1 ST (@7 Srar gl A
o7 § TF ST 9T T AT AT i1 ?

1.8:11
2.4:3
3.11:8
4.11:3
5.3 :11



A jar contains 84 liter of pure juice. 18 liter of juice is taken >R
out from the jar and replaced it with pure water. Again, 28

liter of the mixture is taken out and is replaced by 20 liter of

water. Find the ratio of juice and water in the final mixture ?

1.8:11
2.4:3
3.11:8
4.11:3
5.3 71171
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|ri the 'ratlo of 6 5 2 I'f' .th.e d.lfference between the sharevof
son and the amount which he saves for himself is 27200rs.
Find the total amount which he received as a retirement fund

?

U STi<h q Chs dl%@ﬁ‘{ﬁl‘l‘f\rﬁwﬁ‘oﬁrﬁfﬁ%

w9 H 9T FIAT | 9g e FT 35% =TT € ST AT T T I8
3he|°|v|652<=h813q|c|fr|o|c|l<c|fav‘m

SITAT €1 ATS I 6 BE AT AU FIT FATS TS L9 6 ST+ AT T

27200 9 g\ . HaTAgi (T8 &% ®9 H§ 39 5l fﬁm—rﬁﬁfﬁwﬁzooo

EX 2.Rs. 228000
3.Rs. 288000
4.Rs. 262000

5.Rs. 275000



A \ 'J\JI\JUIl I \wUll W 11 VI I\ JUU Al T\ 3\JL\J W1 1IN ANlTTVUIL IV (AW

retirement fund. He saves 35% of the fund and the remaining
amount is distributed among his wife, a son and a daughter in the
ratio of 6 : 5 : 2. If the difference between the share of son and
the amount which he saves for himself is 27200rs. Find the total
amount which he received as a retirement fund ?

.Rs. 272000
.Rs. 228000
.Rs. 288000
.Rs. 262000
.Rs. 275000

o B W N -




1oL dIC ITIIdIC. 1l /0 Ul UIC 111alC ClPIVYCC dllu 4/J Ul UIC
female employee are temporary employee and total number
of permanent employee is 740, then 7/15 of the total number
of employee exceeds the number of temporary female
employees are ?

o

0o UL o HHATT %
IS T2 FHAT FT 3/8 ST RAT FHATL T 2/5 oF

FHATL g AT TITAT FHATHAT 0 T HeAT 740 2, T FHATA
T A HEAT AT 7/15 SFEATAT ARAT FHATIAT 01 HAT § A19F

g?
2.340
3.308
4,320
5.NOT

[ S HEAT T 2/33‘5&%&(@'@#! AT 2|
8




rest are female. If 3/8 of the male employee and 2/5 of the
female employee are temporary employee and total number
of permanent employee is 740, then 7/15 of the total number
of employee exceeds the number of temporary female

employees are ?

1.400
2.340
3.308
4.320
5.NOT



A & D lVycltlicl tall liflisll a WUIR 111 4V 110UlS. JIHICICIILT
between time taken by A alone and B alone to finish the
same work is 60 hours. ( Time taken by A aloneis<B). If A
do 72 and B do 1/3 of their efficiency then in how many days
the work will done ?

A 31T B TR T 19 &l 40 F2 H 9T FT 9hd 21 A G 3T
3T B 1T T8I T ! YT A | o0 0 9017 & &= 7 3ax
60 T g (3Tehel A gTXT 1T AT ¥HT <B 8)1 I« A 1% 3T B
TTAT AT HT 1/3 AW F¥d & G F1 oo feqi Hgmm? -,

2.80
3.30
4.90
5.NOT




A & B together can tinish a work In 40 hours. Dittference between 48
time taken by A alone and B alone to finish the same work is 60 @\
hours. ( Time taken by A aloneis<B ). If Ado %2 and B do 1/3 of

their efficiency then in how many days the work will done ?

1.60
2.80
3.30
4.90
5.NOT



Quantity A: At what rate of interest will the simple interest on a sum of

money be 30% of it after 4 years?

Quantity B: At what rate of simple interest will a sum of money
amount to 1.5 tlmes of |t after 8 years’?

e w7 ®, <7 61 A7 A ¥ B 6 ¥ § FHIH AT T 21 =T

ohewl I T °h<"| 9% 2H A HATATU A 3T B 914 |<1|%| T HTATAT

g Y AT qal fAseq )
7T A: T g9t 97 4 99 g1 R STt 3% 9 91T ST S

30% BITT?

HTAT B: AT 4TS 61 fohe 3T 9G¥ le T 8 a4 a1< 39+ 1.5 AT 3|

STUAT?




Quantity A: At what rate of interest will the simple interest on a sum of

money be 30% of it after 4 years?
Quantity B: At what rate of simple interest will a sum of money
amount to 1.5 times of it after 8 years?

1.QA>Q8B
2.QA<QB
3.0A>2Q8B
4.QA<Q8B
5.QA=Q8B



On solving these statements we get quantities A and B respectively.
Solve for the both quantities and choose the correct option.

Quantity A: If a train running at a speed of 60 km/hr crosses a man,
running at a speed of 6 km/hr in the same direction, in 12 sec, in how
much time will the train cross a standing man??

Quantity B: A 200 m long train crosses a 40 m long bridge in 8 sec. In
how much time will it cross a 130 m long bridge?

eferierd =7 #, 27 FAAT T A 3T B & ® H HH[{hd [HIT AT g1 =7 FAFT 7
gl T T gH HHT: HIATE A ST B ITH BTl g1 &1 ATATSAT hT g HL AT Tl
EETRR G e
WA?&% 60 TohH/=eT &t T | I Tal Ueh o g9 (<97 H 6 fohsi/=eT &t
T & = Tg Uah Ah &l 12 Hehe | 1L Ll 8, Al o ehad 90T H Ush T3
ST<h &l ITC HI1?

qTAT B: T 200 HieX &l o 40 HieL &d I &l 8 she H I Fxdl 5l 98 130
HeT e I ol Tohd= T80T H 97T HTM0?




Quantity A: If a train running at a speed of 60 km/hr crosses a man,
running at a speed of 6 km/hr in the same direction, in 12 sec, in how
much time will the train cross a standing man?

Quantity B: A 200 m long train crosses a 40 m long bridge in 8 sec. In
how much time will it cross a 130 m long bridge?

1.QA>Q8B
2.QA<QB
3.0A>2Q8B
4.QA<Q8B
5.QA=Q8B



INnformation, you have 1o
determine the relation between the two quantities. You should use
the given data and your knowledge of Mathematics to choose among

the possible answers.

The age of Rishi is twice than that of Binny. The age of Binny and C
IS in the ratio of 3 : 2. Rishi is 12 years older than C.

Quantity A: Age of Binny, five years later

Quantity B: Age of Rishi, four years ago

1= T 3 &7 979 i & JTEU & Ts gl &6 T2 SRl & e 9%, ATl
AT o = Faer (LT AT gl A9 SO § 9 %%r%i%q—oﬁ%g
T 2T AL 07T F Aq ST T ST HZAT AT U] il 3 H AT A
INAT g fa=lT 3T C T =y 3:2 "2l ,CH 12 99 a¢ gl |17 A:

\

=it =t o1, O 99 a7e |/ B: &l A, AL 99 I8




The age of Rishi is twice than that of Binny. The age of Binny and C
IS In the ratio of 3 : 2. Rishi is 12 years older than C.

Quantity A: Age of Binny, five years later

Quantity B: Age of Rishi, four years ago

1.QA>Q8B
2.QA<QB
3.0A>2Q8B
4.QA<Q8B
5.QA=Q8B



LNoose the correct option rrom tne 10liowing

Quantity |: Two partners P and Q enter into partnership with ratio 2 :
3. They earn a profit of 20% on total investment out of which Q gets
Rs 20,000 as profit earned. Calculate Sum invested by P

Quantity Il: A product is sold at successive rates of 10% and 15%
profit. If cost price of product is Rs 10,000 then what is selling price?
e /1= | ﬁ@rﬂgg(faoth ;ST HTAS P 3T Q 2 : 3 & qaTd & H1A
TART H TAU Fd 2l F T [Ha9 T2 20% T ATH FHTG & (orTH J Q &l
20,000 T T ATH SAfoTd grar gl 9 JIAT || ST =90 6t T2 90 0l 0T e
T IcaTE 10% 3T 15% ATH &l i 20 9L o= ST gl IT) IcqTE Al 7 oo
10,000 =9 g T 9T G 7 52




Quantity |: Two partners P and Q enter into partnership with ratio 2 :
3. They earn a profit of 20% on total investment out of which Q gets
Rs 20,000 as profit earned. Calculate Sum invested by P

Quantity Il: A product is sold at successive rates of 10% and 15%
profit. If cost price of product is Rs 10,000 then what is selling price?

1.QA>Q8B
2.QA<QB
3.0A>2Q8B
4.QA<Q8B
5.QA=Q8B



amount of Rs 20,000 at the rate of

12.5% per annum for two years?

Quantity II: If an amount of Rs 18,000 is divided in ratio of 5 : 4
wherein larger part is kept at simple interest of 20% for 3 years and
smaller part at compound interest of 10% for two years. What is the
iInterest earned b(y ;tbe person at the end of two years?

\0

Mereriad | | dgl [ashed 94; ey
qT=T 1 20,000 F9F 3t HoT T 9T 12.5% Tid 99 =l & & &7 a1l =

A=Y Aehe g AT T4 %? A P
qr=T 1l Tte 18,000 &9 st T T 5:4 = AT | Tasariora fha

SLSLES
STEH J=T EEAT 20% o FIETOT S4181 9¢ 3 |19 & (o0 ST e Ze
10% = TRl TSI UL &l 9T h [TU TET SITaT gl & 99 % d | Al<h

STT 3TToid sFTST Teha T 87
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amount of Ré 20 0(50 at the rate of

12.5% per annum for two years”?
Quantity II: If an amount of Rs 18,000 is divided in ratio of 5 : 4

wherein larger part is kept at simple interest of 20% for 3 years and
smaller part at compound interest of 10% for two years. What is the
iInterest earned by the person at the end of two years?

1.QA>Q8B
2.QA<QB
3.0A>2Q8B
4.QA<Q8B
5.QA=Q8B



15,

15, 31,

95, 383, 7

1.1815
2.1915
3.1919
4.1819
5.1935



8,

12, 39, 9595,

180, ?

1.214
2.215
3.315
4.216
5.345




236, 233.5, 226,

193.5,

141, ?

1.48.5
2.52
3.99.5
4.73.5
5.72



10000, 3000,

1800,

1620, ?

1.1560
2.790

3.1460
4.1944
5.NOT



9,

19, 59, 239 ¢

1.1239
2.1199
3.789
4.2459
5.546



Due to compound interest, some principal becomes Rs 8000
In 2 years and becomes Rs 27000 in 5 years then find

prmmpal amount’?
A5 SATS o FTLT, T GeAew 2 F0T § 8000 9 BT ST

A 5 aui § 27000 T4 B SATAT &, AT HA LT AT =hiTora?

1.4000
2.6000
3.22000
4.10000
5.NOT



Due to compound interest, some principal becomes Rs 8000 4@
iIn 2 years and becomes Rs 27000 in 5 years then find Pt

principal amount?

1.4000
2.6000
3.22000
4.10000
5.NOT



IT A container contains the mixiure or milk and water in tne
ratio 5:1. if 22 liter mixture is taken out and replaced with 12
liter water then the ratio between milk and water become 3:1.

Then find the initial quantity of mixture?

A< U A9 H & S T AT A0 5:1 % ST § g1 7 22
o THeAo7 T (HeTef T 12 12X ITHT F a5 (<37 I a7 34
S OTHT T AT 3:1 21 ST %’lﬁ%‘{ﬁrwa?rqﬂﬁow 3T ST

F3?

1.120
2.108
3.130
4.112
5.NOT



If a container contains the mixture of milk and water in the
ratio 5:1. if 22 liter mixture is taken out and replaced with 12
liter water then the ratio between milk and water become 3:1.

Then find the initial quantity of mixture?

1.120
2.108
3.130
4.112
5.NOT



respectively. B and C together can complete the work in 6
days. If A and B started the work together and work for 2

days and then left. The remaining work is done by C alone in

how many days?
A, B 3T C U M{%Id Td &l 3Tehel sHST: Z, z+5, 3z TeAl H &L
Tqhd gl B 3T C {9 39 F1 &A1 6 a1 § T FT I gl T(a
A ST B T 8T W [F F3d 8 AT e?

I 2 fa7 T &L ¢ A
T ST B AT FTA 3Tehel C G T &t # Toham Sror?
1.8
2.6
3.3
4.6.5

5.NOT



A, B and C can do a certain work alone in z, z+5, 3z days
respectively. B and C together can complete the work in 6 days.
If A and B started the work together and work for 2 days and then
left. The remaining work is done by C alone in how many days?

1.8
2.6
3.3
4.6.5
5.NOT



If the length of a rectangle is increased by 40% then what %
of its breadth will be reduce for 10% decrement in |ts area’?

< T AT 0 ddTe 5 40% HT FTg AT FTAT 2, T SHF ATHA

T 10% FH FL T IHehl ATSTs Rl TohadT AT FH 31 STTTIAT?

1.30
2.20
3.10
4.40
5.NOT



A MUl LUOLlO UUU 1o 1T WIHTIVIU PJAyllivliit 1o ThidJdeo 1l vdoll .« 11 pull

Is bought at EMI then down payment comes at Rs 200 and
then 6 equal monthly investments for Rs 80. Find rate

percentage?

T 9 T shiHd 600 T g Tia YT SFTATH Jeha | (6T ST 2

T SUHSATS U 9 GLUET STdT g dl 2139 UHe 200 T9F 9 37

%ﬁﬁ?{SOW‘&ﬁGd{ld(W@?ﬁﬁ%ﬂ@ﬁT%l &< Tiaerd A1d
?

1.20
2.50
3.80
4.5
5.NOT



A pen costs bUU RS IT whole payment IS made In casn . IT pen 48
Is bought at EMI then down payment comes at Rs 200 and
then 6 equal monthly investments for Rs 80. Find rate

percentage?

1.20
2.50
3.80
4.5
5.NOT



number of those who failed were in the ratio 4:1. If 35 less
had appeared and the number of failures were 9 more than
earlier, the ratio of students who passed to the number of
students who failed would have been 2:1. Find the total
number who appeared at the examination?

TS T TLEAT § IO g ATl ﬁWSﬁTaﬁ—rﬁﬂfgﬁ ATAT i
AT 4:1 % ATITT | A7) 7T 35 FF ITEAT g @I ¥ A
g T ATAL T TEAT Tgef hl TeTT H 9 af‘a‘oﬁ@% " ITATOT B

AT GTAT AT ST B ATA BTAT 0l HEAT 31@*4|c|21‘@1c|‘5
TRTEAT | IATEAT B9 ATAT 6T el HESAT AT oy ? 213;

3.165
4.122
5.124




number of those who failed were in the ratio 4:1. If 35 less
had appeared and the number of failures were 9 more than
earlier, the ratio of students who passed to the number of
students who failed would have been 2:1. Find the total
number who appeared at the examination?

1.135
2.155
3.165
4.122
5.124



A shopkeeper gets 25% profit but It he reduces its cost price
by 25% and had increased selling price by 25 rupees then
profit will be 25%. Calculate cost price?

T AR T 25% ATH AT g Sifhd TTa 98 T80 70 oI |
25% T FHHT LT & A< [@T go7 | 25 ®99 6l g Far g ar

ATH 25% BT AT T =l AT L ?

1.78
2.80
3.100
4.120
5.NOT



A shopkeeper gets 25% profit but if he reduces its cost price
by 25% and had increased selling price by 25 rupees then
profit will be 25%. Calculate cost price?

1.78
2.80
3.100
4.120
5.NOT



Ule Udlill stdll ITOITI ostaliOl'l 1IvVI at OdIll dl'll 1edllicU siduoll IN
at 10 am. Another train start from station N at 8 am and
reached station A at 11:30am. Find at what time they will
meet each other ?

Teh o T2 M 8 g 6 Sl Iodl & S gag 10 &t #9F N 9%
TEAdT €1 U 17 o &¥2or N & 8 &Sl 9[F gl & ¥ 11:30

ST T2 A 9T Ig=dl 3l AT T o Tohe 99 Th T 9
e T?
1.8:56
2.7:56
3.9:16
4.9:11

5.NOT



One train start from station M at 6am and reached station N
at 10 am. Another train start from station N at 8 am and
reached station A at 11:30am. Find at what time they will

meet each other ?

1.8:56
2.7:56
3.9:16
4.9:11
5.NOT



M\ 1TVOLD TTUVWO lUvvVdl Uo PYUITIL D WU /ML VIO PJUITTTL TV, To Aal UloLlal ivo
3/4th of AB from point A. One boat takes 12hrs to going from
A to B. Boat goes point A to M and return back M to A and
takes 10hrs. If the speed of boat in constant water is 20m/s
then find the s ee(;?(r)];ﬁvy{a;%r?% ; S

U <l g BH A | U= g M, 53 A 9 AB &t 3/4
T G AT gl Uk 779 il A H B G S(T9 H 12 5 oN[d 2| 979 (a5
A" M TE ST g 31T 9199 M | A T S1at g1 10 5 If oY
ST H |79 i AT 20m/s g AT ST 20l ATl ST sl o1 ?

1.8
2.10
3.16
4.18
5.NOT



VTV WVIE TIVVYVIWOWD WV ivvVaal U r.l\.l LA S = A W& A7 BRSO — AL [N PUIIIL Iviy, IYv UL JviJ il v

3/4th of AB from point A. One boat takes 12hrs to going from A
to B. Boat goes point A to M and return back M to A and takes
10hrs. If the speed of boat in constant water is 20m/s then find

the speed of water?

1.8
2.10
3.16
4.18
5.NOT



A man give one article free on the purchasing of every 15
article. He allows 4 % discount and make 15 % profit. Then
find mp is how much percent more than cp ?

T ATEHT 28X 15 F&q il @iie I Uk g U <dT 2l T8 4% T Tl
g 3T 15% T AT gl 91 A1 it f=F mp, cp & Foha
gaerd Tide g7

1.30
2.59
3.50
4.80
5.NOT



A man give one article free on the purchasing of every 15
article. He allows 4 % discount and make 15 % profit. Then
find mp is how much percent more than cp ?

1.30
2.59
3.50
4.80
5.NOT



X2 + 33X -84 =0

X>Y
X<Y
X2 Y
oK
X=Y
or CND

Y2+9J3Y+60=0

BAwN e



X2-11v7X+210=0

X>Y
X<Y
X2 Y
oK
X=Y
or CND

Y2-11J6Y + 168 = 0

BAwN e



X2 - 843X + 45 = 0

X>Y
X<Y
X2 Y
oK
X=Y
or CND

Y2-y2Y-24=0

BAwN e



ITa sum IS given 1or £ years and o montns with 11 1/97
compound interest. If compound interest is 2352rs then find
principal ?
T s T 2 F9 AT 3 ATg = o1 11 1/9% Tl ST
T & ST B T TR g s3Ts1 2352 ¥4 & ql AL AT

I ToTI?

1.8748
2.7648
3.2514
4.2444
5.NOT



If a sum is given for 2 years and 3 months with 11 1/9%
compound interest. If compound interest is 2352rs then find

principal ?

1.8748
2.7648
3.2514
4.2444
5.NOT



